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i) General Awareness ;
Tobeornotto be, thats the question’ is a 6. Certain events of the eastern coast of A
ous line from one of South America can affect the Indiap
ggglgggre‘s plays. Which lay is it 2 Monsoon. What is the event called which
(Aj Hamlet bk can increase the Monsoon intensity in -
(B) McBeth India ?
(C) Julus Ceaser (A) ~Trade oscillation
(D) Antony ang Cleo'pa L A (B) Humboldt current
(C) EINino
In plants, glucose is stored as reserve (D) LaNina
energy in form of starch. i i
glucoz,e stored as res;:vth::;z;n :rsn 7. During't.he war of Independence in 1857,
humans ? the British beseiged the fortified city of
(A Glycogen Delhi.In SePtember 1857, they blew up
() Sucrose - one‘ of the city gates and entered Delhi.
Which gate was it ?
(C) Starch ' .
. (A)" Lahori Gate
(D) Cellulose (B) Kashmere Gate
Which of the following acids, can dissolve (C)  Turkman Gate t
glass ? (D) Delhi Gate 3
(A) Nitric acid 8. Which fuel is used in a ‘Fagt Sroeder 3
(B)  Fuming sulfuric acid Reactor ? ' i
(C) Hydrochloric acid (A)  Uranium — 235
(D) Hydroflyoric acid (B)  Plutonium
’ _ " (C) Thorigm
Mirza Ghalib was a famous poet of 19 (D) Radium
century who lived in Delhi. Where is: _
Ghalib’s house (Haveli) in Delhi ? 9. Which sector contributes the most to
. savings in the Indian economy ?
(A) Gali Samosan (A) Households
(B). Ballimaran (B) Corporates
(C) . Churiwalan (C) State Governments
(D) Gali Kasimjan (D) Central Government
Who among the following is credited with 10.

introducing paper currency ?
(A) Akbar '

(B) Sher Shah Suri

(C) Mohd.Bin Tughlag

(D) Ala-uddin Khilji

Which agency is mainly responsible for
formulating fiscal policy in India ?

(A) Niti Ayog

(B) RBI

(C) Ministry of Finance

(D) Parliament .
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(A) TTERNAC (B) @

) = (D) Hegels
3. Freflae i & S svet Hie P e ae

27

(A) TR v

(B) HUE HeHfth 3

(C) Tl 3

(D) TwRIwERH 3

4. Tt micre 19 §f v F @ Wig w9, &

e ¥ wea & figh o it miforer A1 e TR 7
(A) et gt
(B) wgwmi
(C)
(D) Tt IS
5. frafafead ¥ @ fFa Foet g2 38 0 =
AR 7
(A) rhell
(B) el
(C) wremTe fam e
(D) rgREn fawt

10.

oy anifie & gl 9€ WIS ©
Rt g TR ) WA § | 3 e
0 T § 5 @ A AT Yaw H g1
aFdl g ?

(A) =TT U

(B) Teliee U

(C) wamr

) =T’

1857 & e &um % <A, Tl 3 gogw
fegft wer Y <o o fomarr | Rrem 1857 #

IEN e Uk gt whi wren e ik fegh
# wayr o | 9% S SEe ut ?

(A) TRt SETT

(B) v amsn

(C) THAW TEWI

(D) feoeht @

‘st woten et o e Sue TR B
?7?

(A) TifEm -235 (B) wyaifmm
(C) =fem/ (D) fem
el sreferese o S 9 o=d | gl
it TEm S R ?

(A) e (B)- HRaRe
(C) T wwH (D) ¥z W&

w3 e A 35 o s, v
ol R 7

(A) Hfdr s

(B) o

(©F e s

(D) wwe
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1.

12.

13.

R L

14.

15.

16.

fa

Bismillah Khan was a proponént of
which ?

(A) Sarod

(B) Shehnai

(C) Santoor

(D) Sarangi

Which movie won the best picture honour
at Oscar 2017 ? |

(A)  Moonlight

(B) Lalaland

(C) Hacksaw Ridge *

(D) Fences

Who was recently elected as the
President of France ?

(A) Marine Le Pen

(B) Jacques Chirac

(C) Emmanuel Macron

(D) Francois Hollande

Which is not a Kharif crop ?
(A) Jowar

(B) Maize

(C) Groundnut

(D) Wheat

Principle of electromagnetic induction is
not used in which of the following
appliances ? '

(A) Electric fan

(B) Generator

(C) Electric oven .

(D) Choke coil of tubelight

among the following, was a

Which ellular Jail in Port

mous inmate of theC
Blair, Andamans '?
(A) Lokmanya Tilak

B) Mahatmé Gandhi
( Damodar Savafle! se
(C; gubhash Chandra B0
(D '
p¥

17.

"~ 18.

19.

20.
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What is the function of MUDRA bank

which was recently set up- by

Government of India ?

(A) To print currency

(B) Toallow deposits of untaxed income

(C) To provide insurance cover to the
poor

(D) To provide refinance to Micro

enterprises

Sharing of which river's waters are a
bone of contention between India and
Bangladesh ?

(A)  Kosi

(B)  Brahmaputra

(C) Teesta

(D) Baghmati

Which Constitutional Writ is issued by the
Supreme Court orHigh Cert directing a
public authority to perform some specific
action ? )

(A) Habeas Corpus '

(B) Mandamus

(C) Certiorari
: .

D) Quo Warranto

Which among the following is a famous

Indian sculptor ?

(A)  Jamini Roy

(B) Satish Guijral

(C)  Khushwant Singh
(D)  All of the above
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(A) we (B) W <
(C) wX (D)
12, 3R 2017 ° frw fvew =1 wddss R
1 R e ?
(A) WFemsey (B) wiwnws J
(C) =iawi i (D)'E—:ﬁ?
13. Torm w1et & & s s Qg AT T ?
(A) THAW
(B) <tou fmn
v (C) hger dw”
(D) i glele
14. =i U GH FO TE @ 7
(A) SR
(B) T -
(C) et
D) "
15. Torm gueReor H ferega werehte atfreeTe o e
i e 2t ? :
(A) Torgd v
(B) A
(C) Forgge 3t
(D) g=rTse i ik g
16.. Frerfeifiaa 8 1 TEacrR, 3SHH it A
S &1 s wfbg Fat o ?
(A) drRaT foet
(B) . HETeHT e
(C) e HIEE
(D) @S = A

D#

18.

19.

20.

(©) mH A
(Dj Q&ﬂ:{ﬁﬁﬂﬁﬁqﬁﬁwm
w@;wﬁm%ﬁafﬁﬁ$3ﬁ$
o S P B

(A)

(B) FEF v

(Cy dre

(D) sl

e Ao A I AR T T
ifrerRtoT <Ry =TS ferfiTse SHRaTs e o e
¥ e e e e s 8 7

C(A) = wegefie

(B) WA

(C) oI

(D) iRt g
ﬁr—r&«lf@ﬁﬁﬁaﬂqqmﬁg TGy
ferewem 2 7 ’

(A) St o

(B)  weftar orer

- (C) gvEd fig

(D) Iy apfy
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How many Pentagons ?

(A) 3 _
© s o 5
22. Reachin

9 the place: of meeting

" 29 minutes before 8:50 A.M,, Rajesh found
himself 30 minutes earlier than the person
who came

40 minutes late. When was the

Scheduled time of meeting ?

(A) 8:10AM. (B) 820A.M.

(C) 835AM. (D) 84a5AM.
[23 - 25] : Reaq the following information
carefully to answer the Questions,

There are six books kept in a shelf and are labelled
asl, M, N,O,PandQ

-M,P,NandQ have brown
Covers while others hay,

are new volumes while

are computer books while the rest are law books,

23. Which?2 volumes ar
brown covers 7

(A) PandN (B)

e old law books with

. Pand QO
i (C) PandQ (D) Qand L
24. Which new law book has a black cover ?
; (A) L " (B) ©
' (C) Q (D) P
p 25.  Which new computer book has a brown
. cover ?
(A) P \ (B) N
f’ (C) L (D) M

[26 — 27] : Given below is a statement and-two
conclusions. Analyse whether the conclusions

nt and answer
! logically follow from the stateme

OWS.
EZSA)fO”If only conclusion | follows
(B) If only conclusion Il follows
(C) Ifboth land Il follow
(D) If neither |, nor Il follows

D#

0 G AT

i bili
2 ii) General Intelligence and Reasoning Ability

nt: With respect to its
% iﬁ?;::‘reweapons, India fol!ows a ﬁo
First Use (NFU) Policy meaning thereby
that it shall not be the fir'st to use nuclear
weapons in a conflict situation.

Conclusions :

() Both China and Pakistan have a
first use policy for nuclear
" weapons.

(1)  Indian nuclear weapons are mainly
for deterrence. :

27. Statement: L=C,P<C, G > P,

Conclusions :
() L>G
(I L>P

(28 — 29] : Find the missing term in the series.
28. 22,21,23,22, 24,23, 7

(A) 26 (B) 24
(C) 25 (D) 23
29. B,CD, —— BCD,, B,CD, BCgD.
(A) BCD,4 (B) B,C,D
(C) BC,4D (D) BCD,
. [30 - 31] : Select the an

swer figure which will

continue the pattern given in the question figure.

30.

31.
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@Wﬁ‘ﬁ“ﬁ%? Hmmﬁmmﬂ ﬁa,b,
* it ot
kK oft aﬁT
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Tt o
|
tg)) 2 (B) 4 e qufllmil
©) 6 /() st g
22, aaaa%@_xaqt&soaéazoﬁqzqgaq@ 3 forg i 451 A1 74
néﬂwmd‘ﬁ?zﬁéﬂﬁaﬁmawﬁﬁﬁ (1l st T
WﬁSOﬁﬂzqﬂémganq‘m%ﬁ;ﬁqﬂ o L=C, P<C, G >P
v [REERE LI er P t\ P
(A) 810 B) & Eﬁ\/ S : e?
(C) 835w zD)) 22‘5’5@ (1 t>§ @
23-25 ) - Frefiam g = s  wfve 3k ht>
A o RS [28-29 | : sj@eT & g WG 1 A
T e T feas w2 sk w | 28 22,21,23,22,24,25,7 2
LM,N,O,P 3k Qfer@rmnd | M, p, N 3ik Qa (A). 26 (B)
ﬁmg%aﬁgﬁWWWW%iLM V.. (€) By~ D) 23
O 7 aTeqw el QU €1 L, M 3T N BC4D.
HUIE 1 T € STfeh o | fafty o e 8 .~ BA?CDéCD - BCDs ?g(;D'B CBD
23. aﬁqﬁzwﬁﬁ:aﬁsﬁmmm \,_ (A) 3 2V2
Wﬁ? & (C) BCyDn (D) BCD,
¥ (W P3N (B) P3O | [30.31 1 3 s e 5t 5 oy 1
© pmo © o (Sl |
24. = it 6 78 goom = A Ee R 7
s L (B) 0 v~ 30. =
€ Q () P ‘ o /
25, I 7 FOgE JEih 1 AW R 7 S I A %
(A) P (B) N —
v (C) L (D) M i SJ ‘ LAO
[26-27 ]: 1= O e SR A Frewd fow e §) e _
fir o1 Frepd T 9 & U T SR e 2 W ® © (@ .
3 3w i) 31. . | -
(A) afR et Frerd | ST wh 3 T lT HT H“
(B) af Fae fred 11 TgETor Fear 3 D
(C) afe 3 | afit 11 3rgeror a § .
(D) AR 3R I e e HTN HT” H T I l T

D#
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% of the population of Rampur is po
”rgé;ate and 19% are plain graduates,
gwn which diagram best represents the

. Y dots will be present on the 37.
face which is opposite to the face having

three dots, when the figure is folded to proportion of graduates as shaded portion
form a cube 7 _
(A) ( (B) @
' (A) 6- (B) 4 . 38. Select a suitable figure to complete the
' (C)_ 1 (D) 5 pattern..
33.  Which cube will be formed if the sheet ]
shown below is folded 7 @ 7 5’

D
EAl LE/ = D
B [E E BIC |E]A EE@\
(B) (D)

O a E

(A) onlyl (B) “onlyli (A) ©) -
(C) landlll (D) I, W, 1l'and 1V 39, | ke ¥
: . Ina ¢ ' i
34.. ‘Snake is to Cobra as Flower is to ceniain code TREAD 'S written as
(A) Petal -~ (B) Rose 7%#94 and ‘PREY’ is written as '$%#8'.
(C) Smell (D) Plant How js "AFITE ‘
0 [ ] . .
35. Pride is to Lion as School is to e RY" written in the code ?
(A) Teacher (B) Student (A)  9#7%t8 B) O#o%7#
(C) Fish (D) Books . ' ® 8
0 (s) o
36. Which diagram best describes the relation .( ) 9%T#%8 (D) O%H7%8

between Doctors, Artists, Men 2

O O _40. Find the missing letter. _
(A) @ (B) E -
7 N O ' (A' “
© (O O) ) GUD (c; "
' S~ _

(B) O
(D) u

D#
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32. aﬁmﬁ@“%mﬁu\eﬁmm

Fogaf a1 w4 e e fagoti e
q@ Ham ? _
".__ -
(A) 6 (B) 4 '
(C) 1 (D). 5 -
33. Ife R fow Mo worw #1 We S A FAET
uqa?nn? '
[ F 4 £ EP
A/.E D: C ».
v (kc D
E /E D
B Pl |B|¢ | EIA
(% V)
(A) & | (B) S
(C) 13l (D). L1, 3wV
3. WABTERAIRTI
(A) ugel (B) T
o (C) (D) e
35. Td 9 fig gefvd & 99 e |
(A) foes (B) ferameff
(C) waefl (D) forerre
36. < @ 3T IR, i ofK e S e
ol ) T oo atg afoid g ?
v Ay @ (B) O
(C) OO (D) Cm
D# | -

39.

40,

oA
HE
(A) w

P

cy’
G ffverd e # “TREAD 1 ‘7%4#094” aft
PREY’ &1 '$%#8' ot s H 3{6 %2
"ARTERY’ &% ferar smam ?

(A)  9#7%#8

(B) 9#%7H8

(C) 9%7#%8

(D)~ 9%#7%8

T e 10 Fir |

(A)  (B) (D)

© v (B)
D) y-

W S

4
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- umerical Ability

_ i) Arithmeticaland N
41. Two numbers are such that the ratio : .
. 47. If J5 =2.236, then the value of s

between them is 4 : 7. If each is
increased by 4, the ratio becomes 3 : 5. (A) 0.367 (B) 0.447
The larger number is ‘ (C) 0.745 (D) 0.926

(A) 36 (B) 64 48, If the mean of 5 observations X, X +2,
(C) 56 (D) 48 x+4, x+6and x +81is 11, then the

42. 10% of 20 plus 20% of 10 equals mean of last 3 observations is

(B) 20% of 10 (B) 15
(¢ 17

' (C) 1% of 200
(D) 2% of 200 (D) 11
Sets for English, Maths and Computer

43. Depreciation applicable to an equipment 49.
Jis 20%. Value of the equipment 3 years Science ina college are in the ratio 5: 7 : 8. If
from now will be _ ‘ the,seats are increased by 40%, 50% and

75% respectively, what is the ratio now ?
(A) 47.6% (B) 51.2%
(C) 40% (D) 60% (A) 2:3:4
44. The speed of a boat in still water is 15 krn/ (B) 6:8:9
hr and the rate of currentis 3kmvhr. Distance (C) 6:7:8
travelled downsteam in 12 minutes Is (D) None of these
(A) 1.2 km- (B) 5.4 km
50." Which is the odd man out ?
(C) 4.8km (D) 3.6 km )
- 8, 27, 64, 100, 125, 343
X
45, If 3= x 21 =10, then values of x and y (A) 100
7 5 (B) 125
. would be (C) 27
(A) 57 (B) 4,4 (D) 64
(C) 3.4 (D) 4,3 '
51. 1n how many ways can the letters of the
1 1), word ‘HEALING’ be arrange
o x+—) 3 then (X3+—2)rs \ ged so thatthe
X X vowels always come together ?
A) 11
A . (A) 480
e 8 | |
B 3 . (B) 720
€ 7 e
) 13 ) 960
4 (D) 320

D#
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a41. awwm%ﬁﬁmaﬂaww 47 ?Iﬁ{\lg:z' ,’r/( | Y '/8/(
478 R dasg oo |, @) 0%/ 8 )(#%
3: 5T SMNR | 7 Her (B) 0447 “’1"\ §W 'V‘(,?f
A | w3 L oms Yol
v (A) 36/ B 6 Fus T y©@ :
(C) 56, D) 48 RSTCINCS 4, ¥+0
( ) et o -\:u-@\\/ &:ruﬁx x+2,x+.‘ Hﬂﬁﬂ
42. 20 F10% + 10 F20%HE | 48. %11%??, | g“fﬁ S
(A) 20 ®110% - 1L 4 ‘7",732" 0&1:1" \:,J\ > '/3
(B) 10%H120% PN e 15y
v (C) 200 W 1% L) ’\r}"\,fﬁ- A 1| % () 1 .V\/F.'/g
| (DY 200 F12% 15/ 1 %%: b
| . . - T )
43. T I T AN B aTer e g 20% § | 49. m,mmﬁﬁl“@:ﬁ;—wﬁﬁ“\ﬁ
v ﬁ‘éﬁ;kﬁmﬁ 3 and e e 2 o T 010/ Wi:/ a1 e LA
@‘:’}Mé}\@ 47.6% (B) 51.2% :?: 4%;; -ain? ' - )
“a®\ (C) 40% (D) 6% ' Jo: 188! o
44, T T A e i A i 15 Rt /e @ 8 MSM vou Vet VP
‘/Mw' g i 3 Feelt e | ar H g v & (B) 6:8:9 R
y= 3 12ﬁ=|2ﬁﬁ?1fmflﬁlﬁ‘q'ﬁﬁiﬂ% (C) 6:7:8
_u&;}ﬁw 1.2 el (8) sS4l | (D) FHAFET
6 Toprt
o (©) 4;55\%7‘ ol Q)38 50. el Ged Y R 7
c i 3% 70 B oty 2 Y 8,27,64,100, 125, 343
gV 7 €&\ 213)/ \UAT" 100 (B) 125
== 57 4,4 (C) 27 , \
] (C) 3.4 (D) 4,3 St ._” (D) 64 - l@
' 51. ¥ HEALING' % st 3y
1 3
y 5 qﬁ[x+—)=3,a}r[x +—2J'€Fnj V' AR TR o e R Pl s 3
x) " . Bl T @ gy
(A) 11 T - ‘ e ) ('D!,‘:;_o( Y
R s te i AL e — Ny,
B 5 (BY” 720 N i
_ xC ~
©) 7 (C) 960 @ L\-/'&&] b
3 : !
(D) (D) 320
D# -11-
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2 (E}x—| (b - 58. A can contains a mixture of 2 liquid 4
b a) thenx =2 and B in the ratio 7 : 5. 9 litres of the
mixture are drawn and replaced by B,

7
A - (B S Now the ratio is 7 : 9. What was
> (B) > the
e - * volume of liquid A contained by the
(C) 2 (D) -1 ~ mixture originally ? '
53. The greatest number of 4 digits which is (A) 10 (B) 20
divisible by 15, 25, 40 and 75 is AL S '
_ - o N (C) 21 (D) 25
(A) - 9200 (B) 9800 ' '
- [59 - 60] : A question is given fol
(C). 9000 ) (D.) 9600 statemer]ﬂsl . 'g . Ofo'wec'j o
and Il. You have to decide if one or

54. If an 'error of 2% is made in measures both statements are sufficient to answer the
the side of a square, what will be the question. R

percentage error in area ?
59. . What is the number ?

(A) 2% (B) 4% o
(C) 2.2% . (D) 4.04% (I) Sum of the digits is 12. Ratio of di'gits
' g . is1:3. P
-95.. A man walks diagonally across a square () Product of the digits is 27. Quotient of
lawn. What % of distance approximately the digits is 3,
was s:';ved by not walking along the (A) 1 alone is sufficient while Il alone is
edges ' not sufficient - Ak
(A) 25 (B) 80 (B) 1l alone is sufficient while | alone s

_ (C) Either | or'll alone is sufficient
56. The value of (D) Neither | nor Il are sufficient
60. Whatis the two-digit number whose first, ..,

‘ (0.83)° - (0.1)° :
. (0.83)% + 0.083 + (0.1 ® digitis ‘p’ and second is ‘o’ ? The number
A) 076 (B) 082 is greater than 9
\ e : () The number is a multiple of 53.
(C). 0.73 (D) 0.69 | " (Il)  Sum of the digits of the number is 8.

57 ‘The raﬁof:;af number for recurring decimal (A) | alone is sufficient while Il is not

0.237237...i1s sufficient
PR 147 + (B) Il alone is sufficient while | is not 4
(A) 397 (B) 159 sufficient |
(C) BothlandIlare necessary toanswer
A J( D) None of these (D) Neither | nor Il are sufficient

(C) go9

-12-

n#
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52. afy (E]‘ﬂz[ﬂhn o F—-KL,] @mﬁaﬁAﬂB ﬁﬂ”‘/%mi '
| b & ar x =7 W BT : aﬁﬁélg?ﬁﬁ :9
Y T TN 7
A 7 5 T Bqﬂaﬂ%tﬁ
(A 3 ® 3 S T an R
c) 2 . g g 72
(C) 2 @ -1 gt de gme? g@."\:)—g )) ©
. i g - T
53. 4 31l 1§ 51l W S 15,25, 40 [oA'e 1 1o R7 - 8'0
o 75dfrTad BeL S I B & N 25 a
" Ga? (G 2 g
(A) 9200 (B) 9800

[59 — 60] : T WA 9T af o | a1 Ry |
mﬁﬁm%%ﬁmaﬁmwwméﬁ

(C) 9000 _~4)_ 9600

54. @l H Il gw%mﬁﬁz%fﬁgﬁaﬂaﬁ

: . w % _ ! _N| & e i E

_ B aEwd A gfawa gR e et 7 1+ S a5
(A) 2% (B) 4% 59. HEAIHIR 7
(C) 2.2% (DT 4.04% ¥

(I) SFRTFTATT 12 | SRl HTAE1: 3 B
55. U fa O qrTienR e  fael A e i (Il) 3Thi &1 AR 27 2 | 3] F1 IITFR
W?Jﬁﬂﬁmqwaﬂmﬁﬁﬁb‘@ 33
v e 57 : <
| SRR | \ﬂ/so \Z@ (A) I SFefe e & wig I STkt vt 3

(A). 25 ' t\‘\m\ B SR .
() 35 (D) 40 -‘—’q' (B) 1 S el & g | st e e
| - 15 © WA W Iy D)
. - © (D) AT AN iR | .
(0.83)° <(0:1) & i |
56. (0.83 + 0,083+ (0.17 _ 60. 7% 2 s e h e 3 -
e (A) -0.76 (B) 0.82 X 3D R T2 7 e
3 ! we
(C).0.73" (D) 0.69 , | CEEEE TS

57, agf e 0.237257... S RtE He L) ma‘@*?ﬂng@
| ol B0 1 ST e g 1 e

W " -2_3_; (B) 1—;% ?{7 B) a%mqﬁngﬁlwh
' 99 '
ni . - ' 13- ' %
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161-65) : e o ot |
, v 6. wgen= & e B )
(A)  wwehy (B) $mmiv"
(C) =& (D) smw
w82, aﬁﬁ-mmmwﬁmﬁw
"~ (A) wEER (B) w
C) wpfea—" (D) T
A3 AR R @y
(A)  widsaefy (B) <
(C) wtyom (D) =¥ vt 7
P4 3w A welrd F e aei st @)
- a = e ) _
(A) Wer B) weE-t
(C) =i (D) waaf
‘/65. #qutﬂ'ﬁﬁ‘ﬂﬂﬁﬂa:raga A |
(A) =g (B) i
(C) @™ (D) Fa"
66. “‘aet dre g % aref 2 N
(A) THTEgaFeT  (B) wgasfmen |
- (C) sow wen (D) ¥ st 7t
67. SRRt wieh’” o wae
V(A Fghdet (B) s T
(C) sfimg@” (D) wauza s
68. =g 1 Sifem _
v (A) s (B) =M
(C) =t (D) g oft el
69. ferad o2 Sttt Fa @ &
v (A) Zem (B) wraam
(C) e (D) wee
Zp. et 7 farhaor 8
. (A) ' B
(C) tg;r/ (D) i ot Teff

m||mmmmmwmummmmmﬁ'

iv) Test of Language : Hindi

(71 = 74) : 1 S O A1 F i it F gy
%mw%lmﬁ%@mﬁw% BT
IG 9T &1 9 R, 49T (D) 7 747 ¢ |

71. (A) s (B) WWV]
Y(C) Y@ (D) =¥z
2. (A) fRhEmE  (B) wwaw e v
Y (C) wPEmi (D) =r gfe
S8, (A) wwmAi~ (B) wwagaad
" (C) md (D) g &
74. (A) HHI W EHT 3R SEET '
Y (B) wrEH g
(C) wgrswcd
(D) wEFReaE
[75-77] : et sz 5 |
75. TRy
YO A) uwash” (B) =
(C) vy (D) =i +ft et
- 76. firfre
V' A) m (B) wwEm™
L =" (D) e
V.o (A ww (B) fafyy~
(C) =wen (D) i sft 7
[78-80): e e g |
78. gy '
VoA (B) "
(C) =g (D) =3 ofy =¥
79. fird ‘
V'
(A) 3% / (B) fm
- (€) wh (D) =gz
3(80' firan |
W w7 A\ @) wr
(C) D) wrg
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v) Test of Language : English

A gnd ta ﬂ . as th I S
[B1 — 83) : Fill in the p| : \ﬂ'ﬁm : he word W 'cr:)rr:j, VUin
choices. anks with appropriate | [89 - 91]: Select e qjven W \ &
81. The s similar in meaning t0 , d\‘-
X er\;ﬁ{: '—______ the master by 89. AUDACIOUS (B) Excit_er
_féthy_Was a\:ve:yto the house while the v (A) Cowardly (D) soldie
. Ly - .
(A) helped, helpi (C) Brave Ve
» Nelping o e
(B) condemned. allowin 90. OBDURATE (B) stabborn .
1, allowing v (A) Bold . Qbnoxiou
(([3)) robbed, assisting (C) Fighter (D)
% (Th) betrayed, admitting — 91. REMORSE ) @® Scoldy’
. Ihe movie fo b N A) Remar :
X six months. f.more than §c§ Condemn (D) ‘Haeglef rd
L’é) played * (B) ran [92-93]: Re Iadé:i' the sen}gace/gmllp of wor
attended with a word of similar meaning. .
iy .e , (D) was on 92. One who reacts atthe slightest stl_mU|U5
83. ‘\l;r{;e exar&w IS going to start in an hour. e ’ (A) Angry (B) Emotional
onliji r?wgé to if you want to reach (C) Excitablen (D) Placid
(A) show the door 93. The colour green
(B) stand on your toes (A) ~Azure (B) Verdant
- (C) Auburn (D) . Sanguine
(C) shakealeg . g
D tal 94. Select the incorrect spelling )
(D) casta long shadow v/ (A) EXHBITIONV (B) MENDICANT
[84—86] : Select the word which is most opposite (C) BRISTLE (D) BEAUTIFY
in meaning to the given word. ' 95. Select the correct spelling
84. ABUNDANT v ﬁg; BUL&'AH'SE .
7 (A) Rich * (B) Pennyless IEGNOSTIC
C) S _ . (C) SYSTEMETIC
(C) Scarcey. (D) qfehie (D) PRONUNCIATION »~"
85. DISMAL : — ;
v _ g 96. Adjective of Glory is
(A) Appoint (B) Dark v A)  Glori
C) Dismi / (A) Glorify (B) Glory
(C) Dismiss (D) - Cheerful (C) Glorification (D) Gloriousw”
86. ONEHQQS, 97.  Verb form of simple is
X (A) Trlyual 1 -®B Pur_ﬂshing 5 (A Simple N (B) Simplification
(C) Painful (D) Majorg (C) Simplify (D) Simpleton

[87 — 88] : Select.the option which gives the

nearest meaning of the idiom/phrase.

~ 87. To let the chips fall where they may
(A)  To start a war

(B) To let something happen regardless
of conseguences
(C)

To teach someone a lesson
(D) None of the above

By the skin of your teeth’
(A) justavoid failing

(B) tocatcha criminal
(C) bring to justice

(D) none of the above

88.

D#

[98-100): A s is divi
18— wh|]ch ongntence is divide

select that part. iﬂhere IS NO er

98.

99.

V.

100. AT Who are yoy

d into thr
art may have error(s). tlafesg‘::".t'rs

ror, sel
(A) The headquarters of st (D).

~B)™ the Indian army are

(C) locating in New Delhj
(D) No error "

(A) The ship went roy
(B) ?he lighthouse andnCl
(C) into the lagoon

(D) No error
(B) toinvite for oong .

(C) inaugurating t
(D) No error 9 the show
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101,

X contains the information about a

file that is needed by the system
Programs that access the fijle records,
(A) A file header )

(B) A file descriptor

(C) Bootstrap

(D) Both (A) and (B)~

102.  InClanguage, conditional operator is also
X called as

(A) logical operator

(B) unary Operator

(C) ternary Operator

(D) binary operator

103. InC language. % Id is used as the format
v of data type.
(A) int (B) longint v/

(C) doubleiqt (D) Iongdistant'

Stacks data structures are also called as

(B) LIFO ,
(C) DEQUEUE
(D) None of these

105. In SQL, toDROP a constraint from atable
" we use the

| (A) ALTER statement with a DROP clause

(B) DROP statement with CHANGE crausd(‘ _

(C) MODIFY statement with CHANGE

clause , ‘
(D) CHANGE statement with MODIFY| 113.
clause : *
i 106. Consider the statement.
v intval[2)[4]={1,2,3,4,56,7 8};
4 will be the value of .
(A) val[1] [4] (B) val[1][1]
(C) val[0] [41® (DY none of these
107. PID of the Kernel process is
“(A) Undefined (B) 0
(C) 1 ' (D) 3
-16-

D#

SECTION - B .
Post Specific Subject-Related Questions

108.

109.

110.

\:

112.
0

. (B)
- (C)

(C)

IIIIIIIIIlllllﬂIHWIIIIIII!IIIIIlllllllllllllIMIIIIIIIIIIWIINM"

Which of the sorting algorithm has the worg;
case time complexity of n log n ?

(A) Heap'sort '
Quick sort

Insertion sort

(D) Selection sort

Sparse matrices have

(A) Many zero entries than Non-zero entries
(B) Many non-zero entries than zero-entries’ |
Higher dimension, TR,
None of the ab0\3 Z/] @
The maximum degree of any vertex in a
simple graph with n vertices is

(A) n (B) n-1

(C) n=+1 (D) 2n-1

In a relational database a referential

integrity constraint can be specified with
the help of—«——
(A)  Primary key

(B) Foreign key \/

(C) Secondary key
(D) * None of the above

Which layer of TCP/IP is responsible for
getting data to its destination ?

(ﬁ‘f) Link layer

(B) Application layer

(C) Network |ayer\/ '

(D) Transport layer;ﬁ

The standard promiées to
provide enough characters to cover all
the world's language.

(A) ASCII ¢ (B) EBDIC
(C) Unicode - (D) EASCH

Which of the following is a private
IP Address ?

(A) 12.0.0.1

(B) 172.168.2.3

(

(

(D)

A)
B)
C) 168.202.32.4
D) 192.168.12.12

b

b
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A 000 00 ACV-05/T ECH
o S
o e i forewiaeh e e
0. A el vl dwma s ey | 108, s s i i
H, 3 6 Sl 8 s fere, <0 B o e nlogn? ? .+ sort
W % R 1 aremem o 2 | (A) Heap sort (B) QU sort Wt A
(A) w5 wides (C) Insertionsort (D) Setection & .
(B) Iset aviert 109. fa= 7
©) W BN

(D) @i (A) 3f(B)

102 ‘C w1 & Wioeid srermers e &
(A) e e (B) UThdl Y=
(C) B sEeE (D) g e
103. C 9N, % |d 1 Y& U W&q F &9 o
TR YA 2|
(A) int (B) longint
(C) doubleint (D) longdistant
104. WF iher Gl geft e 2
(A) FIFO (B) LIFO
(C) DEQUEUE (D) wid &=l
105. SQL ¥, Us g 731y 1 arieit g 89
ST R G R

(A) ALTER %4 % g1 DROP ®s
(B) DROP % & @19 CHANGE Ts

(C) MODIFY. %9 % @1¥ CHANGE @8

(D) CHANGE %A & ¥ MODIFY @8

106. YT T =R | )
intval[2] [4] = {1, 2, 3,4, 5,6,7,8};

b

4 T T BT |

(A) val[1][4] (B) val[1] [1]

(€)  vall0] [4] (D) IS TE
107. PID a?fK.erneI process & JHRATR

(A) omfervd - (B) O

(C) 1 (D) 3

D#

110.

111,

112.

113.

114.

-17-

(A) v v e @ g Sl
(B) o v v st & wi Rl
(C) I= IWm

(D) Ived & & &rE 7

sTfraran fef) feht oft s ) v ate TH A
n & & g1y 8

(A) 'n (B) n-—1

(C) n+i (D) 2n-1

UF GO9I e = ° uh eunerd
qamEl sey o weEar | ffde
o S TreherT 2 | |

(A) v i

(B) amedt Fefl

(C) Taeftaeh it

(D) Iwfw # &+ 7

3iehs F1 36 T4 @ FgE % fau TCP/IP
1 FITet T feEr 2 7

(A) =f wE (fere S

(B) Fafrim v (veeftirom )

(C) ~ead qtd (Freerdh wrm)

(D) dfteed i (Zrdre T

A 6 i ae qff gfn
1 9191 T GRS e 2
(A) ASCII (B) EBDIC
(C) Unicode (D) EASCII
et 3 e e s 1P g 2 7
(A) 12.0.0.1 (B) 172.1682.3
(C) 168202324 (D) 19216812 12
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- o 15 Which of the following is responsible for

119. In Linux, which command is used to

D#

ACV-05/TECHTGTC/1T/01

converting higher level protocol
addresses (IP Addresses) to Physical

network-addresses ?
;BOOTP

(A) IP (B)
(C) ARP (D)

116. What does the following statement

L declare ? -
int(*f)(int');
(A) Integer pointer f

A function pointer f which takes

integer argument -

MA pointer to a function that takes
integer pointer as an argument’

(D) A function that takes integer pointer
as an argument

117. What is the output of the following code
= snippet ? :
inta =3;intb =5;

int*p = &b; SV

int**q = &p; §AO

*q — &a; 5 \ =2

printf(“%d”,*p);

(A) Segmentation fault

(B) 0XF3000H

(C) 5.~
(D) 3
In ASP.NET, difference between
Response. Write() and Response.

Output. Write() is
(A) Response.Output.Write() allows |

Cached output
(B) ,Response.Output.Write() allows

Formatted output
(C) Hesponse.Output.Write() allows

Buffered output
(D) Hesponse.Output.Write() allows

Streamed output

118.

ser login session in a file (by

record a u
recording terminal session) ? .
(A) screen (B) scrupt
(C) sedﬂz (D) rview

120.
v

121.

122.

123.

124.

?.

-

eT

o7

(B)

427 10101,

(AT llﬂllllﬂlﬂllllllﬂlﬂilﬂmllllllfllllﬂlnm‘.

Under virtual storage . | 5
(A) a signal program is processed by ‘Wo.
ormore CPUs .

two or more programrs are USeﬁ
concurrently in primary storage
only the active. pages of a prograp,
are stored in primary storage
interprogram interference may occur

(B)

(D)
In RDBMS, B+trees are preferred to

binary trees since
(A) Disk capacities are higher than

memory capacities
Memory access is faster than disk

(B)
access
(C) Disks are more reliable than memory

(D) None of the above

What does the VLOOKUP function do ?
(A) Looks up text that contain 'V’
(B) Checks whether text is the same in
one cell as in the next
Finds related records
(D) All of the above

Which of the following is an absolute cell

reference 7

(A) B! ~B] S$SBS1
(C) b (D) Bt

Which of the following formulas will Excel
not be able to calculate ?

(A) = SUM(Sales) — A3

= SUM(A1 : A5)*.5

(SY = SUM(A1 : A5)/(10 - 10)

(D) ) SUI\}é(?A?l cé’{a)@@
Addition of 1101, and 1000, is
(A) 10110, (B) 1000,
(D) None of these

Trigger code is written i
(A) SQL

B) PLsQL"

(C) JAVA

(D) Machine language

i
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, . . V_05[fEcHTk§:“TIO1
0 0 0 0 0 | AC b
. . Satd % TCPU
115. FEdiddN s wia e am (P @ | 120, mmzﬂ’amaaa{% \
X e e o e s o R ? SRR LSRR
(A) 1P (B) _LQMP"J‘ 2 2 aiferd A
(C) ARP (D) BOOTP (8) ﬁwﬂﬂﬁ?ﬂqaﬁ%@ rﬁﬂ;q‘éﬂ“\
116. 51 FreafrRan e it e 2 (©) e i A
nCont) i ﬁmﬁa%’fﬂm N
. (A) Tl = f (D) £ sREIBHrEes
(B) e HE f S i 3 it e 21, RDBMS #, Binary eSS "
(C) H=® & e T S o¥aT & quTleh Terh mfﬁmﬂﬁwamam%
o % v i (A) %ﬁmﬁﬁ%;m a2
D) e St o & ot o F =T (B) wft arfi foeh AR
o i (o) e s v @
117.  Tafeiga ¥ & e 3 snippet & 7 (D) I A HE A
'.n:.afz:_mbﬂ; 122, VLOOKUP &1 wehrd shidi ® 7
{nf_ 3 (A) s Frew =t Te sai v |iefad
n'q = &p; : (B) s et i it v ot ¥ Y O SIS
q=8a; EEERUCE RSB
printf(*%d","p); (C) wHfim sfrdtE ge
(A) fwmemEm (B) OXF3000H (D) Sudea Tsh
© 5 o (D)3 : 123, Frefeftem & Sen Htpﬁﬁamﬁ%?
118. ASP.NET #, Response.Write() 3l (A) 1B (B) $BS1
Response.Qutput.Write() ¥ I & (C) #b#1 (D) Bf
(A) Response.Output.Write() allows | 124. ﬁﬂ%@ﬂﬁaﬁw@mm .
Cached output : T T | ? A
(B) Response.Qutput.Write() allows (A)  =SUM(Sales) - A3
Formatted output | (B) =SUM(A1: As5) 5
(C) Response.Output.Write() allows Eg) =_SUM(A1 :AS)I(10—10)
Buffered output ) =SUM(A1 “A5) - 10
(D) Response.Output.Write() allows | 2> mﬁﬁ%nmzaﬁnm%%
Streamed output . , égl) :01102 B) 1000
- C) 10101
119. @ (Linux) W, SATeAT @ 6 A 126. Pmae 2 ‘ " (D) Wﬁaﬁ:{qﬁ
afefaa w1 % T (ifw @ R ofefes | ) Sﬁﬁﬁi@ﬁtﬁ?ﬁgl
FAGY) el e T AR ® p
. L/SQL
~ (A) @AM (screen) = (B) e (seribt) | (c) JAvVA
C) ¥ (sed D) W iew)
RO G A | TN VR ORI
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ACV-05/TECHTGTC/1T/O1 AW 0000 000 0 O O
/@ By default the rt.aturn type of any user 135.  The group of digits stored at adc‘jress
" defined function in‘C'is ' % in memory is generally referred as
. g’ void (B) " float (A) memory bit
integer J (D) none of these (BY ~fmemory byte L
‘1/28. Object Oriented Programming uses (C) memory word
: approach. (D) memory block v .
(A) Top-down % 136. Socket and Winsock are examples of this
(B) Bottom-up type of software
(C) Hybrid approach (A) API (B) VCR
(D) Mixed approach (C) DSL (D) « IPX
@ The insulation of data from direct access 137. In Java, which exception is throv‘vvn when
by the program is called as divide by zero executes
(A) Encapsulation (A) Array Index Out o_f Bound
(B) Data hiding (B) Asithmetic Exception
(C) Inheritance (C) lllegal State Exception
(D) Polymorphism (D) Null Pointer Exception
130. The property or the ability to take more 138. Which of the following protocols can
" than one form is called as ./ automate IP configuration (IP Address,
(A) Encapsulation e Subnet mask, DNS, default gateway) ?
(B) Polymorphism (A) SMTP By DHCP
(C) Inheritance (C) SNMP (D) ARP
f .
(D) Deta fansiony 139. In IPv4, every IP address is formed using
131. Random scan monitors are also referredas V' (A) 64 bits (B) 32 bits.~
K (A) Stroke writing display (C) 128 bits (D) 12 bits
(B) Calligraphic display _
(C) Vector display 140. 127.0.0.1is an example of
‘(9,)/ All of these : Eg; g:ass ‘é ac;(;ress
. , ass C address
tu
C@ The refresh rate below.which picture (C) Local loop back address
- ﬂickerSSlS (B) 35 (D) Global IP address
5 .
((é'; 20 (D) 45 ﬁt Default subnet mask for a class
. b - A) 255.255.255.
133. Thetimea magnetic disk takes to position EB; 255 0 05 285.0
‘ ted track is ARk
_  aheadonthe selec (C) 255.255.0.
(A) Latensc;y time (D) Allof the above
B) Acces ‘ - ,
C; geek time 142. HA"? configuration of disks are used to
( Turn around time % provide .
(D) (e follo wing is not used to (A) Faulttolerance
Which oné Ot 7= es (B) High speed -
134 namic web pagd , "
/. generate dy B) ASPNET | (C) Highdata density
(A) pHP (D) None of these y” (D) None of these
-20-
p# ; ‘
- R — r~
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FoRd
g, 1T T8 R o oy of it | 135 mwv@mqﬁ““"ﬁmﬁ
| FvemeIERCcR - ) wehfa forar s @
- (A TF B) wemH (A) memory bit
E . T (B) memory byte
; (C) it | (D) T IwdTd (C) memory word
.';.-7: aﬁﬁ‘%m‘@m(m)%l (D) memory block
| (A) s (B) -3 136. mﬁﬁwm@ﬂ*%wa;
C(C) TR (D) fAf e | SR ,
| 3 (A) API (B) VCR .
@Wmmmaa&mam (C) DSL © (D) ~IPX -
Tl 3 137. Wﬁ,ﬁﬁﬁﬁﬁ%ﬂwﬁam ‘
(A et (B) o a7, T ATETE Qe BT @ ¢
(C) T D - (A) R T SAE AT M
: (D) wg&q (®) e -
), T IR A1 T A i e o A e (C) oy ffy stwame
. ST B (D) T TR TG
- (A) ot . 138, Frefifias seeTe & & Seh 1P iR
B) e ?NT%H“T{T;)? (IP USH, Geie ATh,
(C) fewrea _ (A) SMTP (B) DHCP
: (D) mmw (C) SNMP (D) -ARP
B, s S wiiet 3 wed § e S e 139. IPv4 T Y% P 3139 &1
A) i frard vax (B) Hor@ 5ET T FATS ST 2|
. b' .
G e o g | Mo e
Its
D e o A1 o g @ 140, 127.0.0.1 %1 T JaTewwT
= (A) 25 &y > (A) Class A address
() 40 o (©) Looatloop ot
ck add
33 W@WW@W s (D) Global IP address ,ress
| R A A R 141, T o % Rore Fewies ey
a) e (B) Rahhiubs (A) 255.255.2550%%'(;?@
©) sl F it et (©) 25525500  p 255000
1 Waaq%ﬁﬁm 142. RAlpﬁwﬁmmﬁ% -
T T 11wl (B) ASP.NET (A) < wftwom ®)
| '(g) PHE (D) FHAFKT | (C) I et g (D)
| P
| (C) JS. . Waaﬂgqﬁ
| Dy
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‘A«?VHOSITEK:FTTG;TCU11101
143, ' i
m Contains the Swap space.
(B) Disk
(C) ROMm

144,
X

145,
</

146.

147.

148.

149,

D#

(D)  On-chip cache

IS a protocol used in sending and
receiving email.

(A) BGP

A7 ae

The length of IPv6 is
(A) 64 bits
(C) 128 bits .~

(B)
(D)

HTTP
SMTP

(B) 32 bits
(D) 12 bits

‘Frames from one LAN can be transmitted
to another LAN via

(A) Repeater
(C) Modem

(B) BridgeY”
(D) Router

An attribute of table cannot hold multiple
values is the property of T
(A) First Normal Form (1NF)
(B) Second Normal Form (2NF)
(C) Third Normal Form (3NF)
(D) None of these

Register storage class can be specified
to global variables

(A) true

(B) false

(C) depends on compiler

(D) ‘depends on program

Which among the following is NOT a
logical or relational operator in C ?

(A) 1= B ||

(C) =~ (D) ==

The disadvantage of using parallel mode
of communication is
(A) Itis costly

(C) No security

(B)

It is slower

(D) Allof these-)(

-22-

151.

LN

152.

v’

153.

154.

186.

156.

A0 000 O

Choose the statement that are
syntactically incorrect in C language.

‘& for(; 5);

/*this is/*a valid */comment */
(D)

return 5;
return (6+3);
Increasing the RAM of a computer typically
improves performance because
. & &
i ' ase
(A) Virtual memory mc;reter
(B) Larger RAMs are fas
Fewer page faults occur
(D) Fewer segmentation fault occurs

In computer communication network the
term baud rate means

(A) . The number of bits transmitted per unit
time

The number of bytes lost per unit time

The rate at which signal change
None of the above

(B)
(C) -
(D)

Error detection at the data link level is
achieved by . o
(A) Bit stuffing &~

(B) Cyclic redundancy code

(C) Hamming code

(D) Equalization

—

Which of the following decides if a
function declared inline indeed is going
—cviared inline indeed

to treated inline in the executable code ?
(A)  Compiler

(B) Operating system

(C) Linker \/\‘

(D) Loader
A situation where two or more concurrent

processes access shared data and they
try to change it concurrently is

(A) critical section

(B) intolerance

(C) race condition

(D) synchronization
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Wmﬁw
(A) RAM (B) D::m%
C) RO
©) M (D) On-chip cache
. Merher & 3 et Yoy |
T S R i
(A) BGP (B) HTTP
(C) RTP (D) SMTP
IPV6 &t Tams R
(A) B4bits | “(g) 35pite
(C) 128 bits (D) 12 bits
. T oA ( (LAN) § 588 &7 (LAN) & v 5
%Wﬁwﬁa%mmm%?
(A) fufiexr - (B) ot
(C) #rw (D) &=
. T T i e e am gy @
T & gehd!

148.

(r}

o

L

(A) WeH G &9 (1NF)

(B) Teda @M= &9 (2NF)

(C) qeita &= ®9 (3NF)

(D) 99§ =ig T

fefreet steror art st aiEdi afird fifdse
fia 11 EehaT

C(A) wE -

(B) Teid

(D) HTSNT T AT

| fyefefad © & foRaenT difdheh TS HSURER
ares CH T8 °
A) 1= B) |l
© = ™ 3"

. mmmﬂmmmw

2l

PR (B) Tz
Eg)) ﬁég{«wqﬁ (D) S9Fq wfi

151.

152.

154.

1565.

156.

teCll
e akamell fo el A1
'C' T H 8
A) for(;); .
EB) /*this is/*a valid +/comment */
(C) return5;
(D) return (6+3);
ST RAM ) s T e
3 et IR g A
(A)  areifoe 3 § sgrad
(B) &3 RAMs i I
(C) oo g3 & 2 Igufed el

- (D) F® fwrem dry sgefed g
153.

HIU e Jeesh o 3Yafy afe g Haer
T g

(A) Wt gehTs o W e & oiy YN
(B). =13z wen wf 3T @ & @
(C) form &t o wehet aftarc

(D) Iudea & & ré Tl

el foreh & ¥R W gt 1 e ey T
e g ETfereT <t R 7

(A) Bit stuffing

(B) Cyclic redundancy code

(C) Hamming code

(D) Equalization

Eﬁﬁaﬁq%@mw%%wmm
ﬁq‘rﬁﬂ%mﬁﬁmmmmmg

,ﬁmﬁqﬁwﬁgﬁm?
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157.

158.

161.

p#

(D)

A situation where a group of processes
are permanently blocked waiting for a

particular evenf that will not occur
race condition (B) intolerance

(C) critical sectionwD) none of these

Removing of suspended process from
memory to disk and their subsequent
return is called :

(A) Swapping~”

(B) Segmentation

(C) /O operation

(D) Replacement

is a scheme where only a

portion of the job’s address space is

actually loaded into physical memory.

(A) Swapping

(B) Virtual memory

(C) Kernel Swap

() spaOL

A relation may have nor than one key. In

this case, each of these keys is called a
(A) Primary key ¥~

(B) Secondary key

(C) Foreign key

(D) Candidate key

Which of the following is an example of
nonvolatile memory 7

(A) ROM—" (B) VLSI

(C) LSI (D) RAM P
What is the minimum number of stacks ‘
of sgge n qunge_d to implement a queue
of sizen? T _}
(A) One (B) Two ['g'
(C). Three (D) Four ;
A sorting algorithm is called stable if

(A) It takes O(n log n) time
(B) It maintains relative order of
occurrence of non-distinct elements

It uses divide and conguer paradigm

(C) -
It takes linear time

164.

v

166. Defects are less C

v

167.
B

168.

169.
i'_‘/‘

170.

n,

A 0 O (A0 A AR

g algorithm

is a line drawin
n.

based only on integer calculatio

(A) Digital Differential Analyzer (DDA) line
drawing algorithm _

(B) Bresenham’s line drawing al_gorlthm

(C) Caman's line drawing algorithm

(D) Allof the above

165. Hexa-decimal equivalent of
(1Q1010011011)21s
(A)>ATB €2 () B9A

B> (D) A0

129B d
ostly if detected in

(C)

which of theTollowing phases ?
Requirements gathering

(B) -~ Coding -

(C) Design __

(D) Implementation,__

In testing only the functionality of

the software module is tested.

White box testing o

(A)

(B) Black box testing
(C) Gray box testing
(D) None of the above

Pargto principle advocates
(A) 20-80rule (B) 80-20rule
(C) 40-60rule (D) 60—40rule

Page fault occurs when
(A) The page is corrupted by the
application software
(B) The page is in main memory
1(C)~"The page is not available in main
memory
(D) One tries to divide by zero

Semaphores are

y of
(AY” race condition

used to solve the

B ocess

(( ; -pr S synchronization
C cache rep| m

©) Placement

none of the above
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158.

159.

160.

161.

- 162.

| 163.

RN LT TN
(A) W sy

(A)  Swapping

(B)  Virtual memory

(C) Kernel Swap

(D) SPOOL

T T B HHATR 37 € e e o ool
1 38 A 1 578 § e Foft wwerd 2
(A) e i (B) wreafi gl
(C) foraft it (D) weerefi Fsh
Prerffiaa § e TrEEERS T
ISTE R 7

(A) ROM (B) VLSI
(C) LS (D) RAM

u@ﬁqmm%t%awmnﬁmm
£ ST SATHR n H FA B

(A T (8) &
(©) O) 3w
el e i e T €

aeag O (n log n) @9 < @
(@) s o s A
i St

C) e @

164,

165.

166.

167.

168.

169.

170.

ACV-0STECHTGTC/1T/O! |

Yol R e R R S

qutes 1o 3 aqmem ot it e @ |

(A) Foh veer o fRverss o @ He
W

(B) 3w vty fors e oA

(C) =mw i foxr s oM

- (O) wwm

¥ S (101010011011), Far &
(A) A9B (B) B9A
(C) 1298 (D) A29

319 % g B ST A R 3§ e
TR ?

(A) TEws gmew  (B) wahaae
(C) femiymes (D) st
Tte01 3 St e e w1
1 e O F |

(A) T%e s yitero

(B) =Tt sime wiieoy

(C) widt wme witaroy

(D) 37 # &+ 7l

T 1 firgia we et
(A) 20-80fmm ()
(C) 40-60fmam
U3 29 79 BT R 7
(A) I Tfiche wiveden g g 2 smar

(B) 9= ¥ g wyfe &

(C) %8y i & Suetey 7 &

(D) ¥ &0 @& # o &) < il

AR

80 — 20 oy
(D) 60 - 40 fram

mmmmmmm%m
(A) Y=

(B) qeuwTeH ot wian

(C) Ffoew e

(D) I & g
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172.

173.
v

174.

175.

176.

D#

L

2o

(B) Operating system
(C) Both (A)and (B)
(D)  Neither (A) nor (B)

SR

Inan SQL Query involving NOT, OR and

AND without Parenthesis, what g the
order of evaluation ?

(A)  NOT followed by AND follpwed by OR
(B) NOTfollowed by OR followed by AND
(C) AND followed by OR followed by NOT
(D) OR followed by AND followed by NOT

Where is the default session data stored
NASPNET? ¢ X 3
(A) Session object~”

(B) State server

(C) SAQL server

(D) In process

Which of ‘the following is not a valid
formula in MS Excel ?
= AVG(A1 : A6)

(B) = AVERAGE(A1 : A6)
(C) =MEDIAN(A1 : Ag)
(D) =MEDIAN(2, 4, 4, 5)

In ASP.NET, which namespace
provides forms authentication ?

(A) System.Web.Ui.Forms.Security
(B) System.Web.Configuration

(C) System.Web.Security

(D) System.Web.Servicesfr,

Octal equivalent of (111101000), is
(A) 456 (B) 556
(C) 750 WPy 550

Which of the following is netan advantage

of multiprocessing system?

(A) increased throughput

(B) shorter response time -

(C) decreased operating
overhead

ability to assign priorities to jobs

system

(D)

Multiprogramming was made possible by
(A) 10 unitsthatMendentlyof

the CPU |
W

f

Y0 00000 O O ;1 \
178. A DMA controller is connected to the ‘f
(A) Processor bus l’))
(B) System bus @1
(C) SPIbus lﬂ
(D) None of the above )
179. Which of the following statements 11.
v declares a one-dimensional array named |
item that consists of five elements ?
(A) charitem[O to 4)="";
(B) charitem={1, 2,3, 4} ‘
(C) charitem="";
(D)~ charitem[5]="";

180. A logical schema in a database

X (A

(B)

is the entire database
is the standard way of organizing
information into accessible parts

. d?)/déscribes how data actually stored on
disk

(D)
181.

all of the above

Which option of the kill command sends

the given signal name to the specified
process ? '

(A)
(C)

182.

(B)
(D)

=N
—a

]

-85

In a linux/unix system, process

K. information in the current shell can be
obtained by using

(A)
(B)
(C)
(D)

bg )(
processor — status

fg

183.  The command Syntax to display the file
'sample.txt’ one page at a time is

(A)
(B)
(C)
(D)

man sample.txt>more
cat sample.txt<more
cat sample.txt|more
none of the aboye
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1. T (SQL) % R NOT, OR

S AND R s e 81 e
&1 FH =1 R ? '

(A) NOT ==z AND i 6% =2 OR
(B) NOT % = OR aiw 3% 5@ AND
(C) AND ¥aw® OR afw 3g% s NOT
(D) OR % aw AND i 36% a1z NOT
172, ASP.NET s o A Fel Tl
}_ | .
. (A) Session object (B) State server
(C) SQL server (D) In process

173, Tt i e v g w w e i 3 7
| (A) = AVG(A1 : AB)
(B) = AVERAGE(A1 : AB)
(C) =MEDIAN(A1 : A6)
(D) =MEDIAN(2, 4, 4, 5)

174. ASP.NET T W& T0ET Yo &1
FTIIIUH Iueey FETT & 7
(A) System.Web.Ui.Forms.Security

(B) System.Web.Configuration
(C) System.Web.Security

(D) System.Web.Services

175. STSTHR 6 FIGed (111101000), .3
(A) 456 (B) 556

(C) 750 (D) 550

Frerferfiaa @ srguenton sorel & w7 2

(A) -wgfs e g

(B) &u widfsan g94

(C) 39l wamer Sorret & =geren

(D) et it wrfies emaratt o g

177.  SgshHATeY & g0 A g
(A) I/O 313 5 ad GaTeq CPU &1 @
(B) uf=meH wore!

(C) 2mi(A) ¥R (B)

)

176.

(D) A(A)T& (B)
D# | ‘

178. @@Wﬁﬁﬁ@@ﬁ%

k

ACV-05/TECHTGTC/T/01

(A) Processor bus
(B) System bus

(C) SPlbus

(D) Ifea H & Hd 4

179, 37 Q e s oifive st 2 6 e smanht
[Tl (g o' o AT | S S 8, S
- A TR ?
(A) charitem(0 to 4)="";
(B) charitem={1, 2, 3, 4}
(C) charitem="'";
(D) charitem[5]="";

180. difcher 3@ ATheT TR

(A) Tl ffeRet 3w 2

(B) = e ailieht, ST e i o e
1 STaTeId F

(C) =i = 2 T arierer g e woew
EEDIGR

(D) IR et :

v fere o e foe o we R

ffeee ufra S 2 2 '

(A) -1 (B) -n
(C) -s (D) -a

AT | soTTett T g ) whr adem
@mﬁmﬁmga‘m%

(A) bg
(B) processor - status
(C) ps
(D) fg

AT T T EEE W i ¥
T ‘sample.txt’ & 7% v T 3

(A) man sample.txt>more

(B) cat sample.txt<more

(C) cat sample.txt|more

(D) IR o A = 7

181.

182.

183.

A
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184. The permission —rwxr —r— represented in

K

octal expression will be
A 777/ (B) 666
(C) 744 (D) 711

185. At the end of kernel bootstrap which

X

186.
N

187.

188.

189.

—
©
(=]

\

191.

192,

process is started ?

(A) /etc/init (B) /etcé%eg,
(C) [/etc/swap (D)  /etc/kennel
In SQL, which of the following is not a data
manipulation language command ?

(A) DELETE ~~  (B) SELECT
(C) UPDATE (D) CREATE

In SQL, which command is used to make
permanent changes made by statements
issue since the beginning of a transaction ?
(A) COMMIT (B) PACK
(C) SAVE (D) DONE

In Linux, which option of rm commanq is

used to remove a directory with all its
subdirectories ? T
(A) -b (B) -o
(©) -p (D) -r
Which command will create a new, empty
file in Linux ?

. (A) touch (B) make v~
(C) mv (D) cpy

To access the services of operating
system, interface is provided by

O 0 000 A R i

193. In ASP.NET, what is Global. asax used for
X (A) Toimplementapplication and session
level events
(B) To store configuration information
To store styling information
(D)* None of the above .

194. Which of the following tag is used to mark

/  abeginning of paragraph ?
(A) “<par> (B) . <br>

<p>/ (D) <tr>

195. Correct HTML tag for the largest heading is °
» (A) <head>  “ ~(B) <h6>
(C) <headings (DY <h1>

196. The information stored in the catalog of a
« database is called

(A) Distributed data

(B) Raw data .

(C) Encapsulated data

\ /(B) Meta data

197. Which SQL operator tests if any of the
% sub-query value meets the condition ?
) LIKE operator
(B) SOME operator
(C) OR operator
(D) IN operator

198. To add two cells (A1 and A2) together
v you use the following formula

(A) AlplusA2

(A) RPC (B) Systemcalv/] 4B - At

(C) DLL (D) API

Which of the following is not a type of

constructorin C++ ?

(A) Copy construct

(B)  Friend constructor

(C) Default constructor

(D) Parameterized constructor

Which of the following is not the member
of class ?

(A) Static function

(B) Friend functiona””

(C) Const. function

(D) Virtual function

(C) = Add(A1+A2)
(D) =together(A1:A2)

199.  How many primitive data types are there
¥ inJava?

(A) 6 ) 7
(C)$ | \ﬁg

200.  Routing algorithm used in MANETS is
(A)  Routing information protocol
(B) Distance vector protocol
(C) Shortest path first
)

( Ad-hoc on- demand dlstance vector |

28 (ﬁa)/%i Otﬁﬁ%}
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(84, T STTHIG —rWxr —1— TR S fRT
o AT '
(A) 777 (B) 666
(C) 744 (D) 711
{85, =1 ¥ oic 3 S, AR s e e ¢
(A) /letc/init (B) /etc/sched
~ (C) [letc/swap (D) /etc/kernel

- 186. SQL # fFroafafaa & @ smerst wereA W
AR AT ®
(A) DELETE (B) SELECT
(C) UPDATE (D) CREATE
187 SQL & = s e & S S d,
o) e g e s TEel @ e
Y SqaEr o S ST 2
(A) COMMIT (B) PACK
(C) SAVE (D) DONE

188. wriwE H, T sWREE a‘[wa?rmﬁ
eSO geH & Y rm FH1E
o R Frehew TR foha St @ 7
(A) -b (B) -o
C) -p (D) -r

189. wigiaE N HEl HHTS Th T, Tiell BEd

FTe 7
(A) 27 (touch) (B) & (make)
(C) mv (D) cpy
190, sTiRfT Rreew $ A T T H Ry
F2THY 3Ty AT 2
"(A) RPC (B) System call
(C) DLL (D) API
. j91. fy=ffEa # siaar YER Rt Cor 8 7 8 ?
(A). idl HHgIN
(B) H8HHGIX
(C) fewpice FHagaT
(D) Frifireliga FgaT
192 FrefrRaa § iar a7 & aee TE e ?
(A fRryed (B) %< wr
- (C) ol (D) ST ST

D#

193.

194.

-29-

195.

196.

197.

198.

- (D)
199.

200.

FO ¥ fe T STl
(A) <par>
(C) <p>
aﬁHTML%%%{Qw@a@sﬁﬁ:%
(A) <head> (B) <h6>
(C) <heading> (D) <h1>

(B) <br>
(D) <tr>

(C) wgfed smRgt (D)
fe 1d oft IT-J=T T I hT I AT @ Al
FE1 SQL TiEerss Wi wum 7

(A) LIKE uf=mers

(B) SOME uft=Ter

(C) OR uf=rmer

(D) IN dfeame

5 2 91 { A1 and A2) ﬁqsﬁmmq
& for am 9 w7 1 v i

(A) AftplusA2

(B) =A1+A2

(C) = Add(A1+A2)

= together(A1:A2)

ST 3 e srrfi eren g & 2

(A) 6 B 7

(C) 8 (D) 9

MANETS # Sl €ameft s srer fafy
(®fén wemiifem) 3

(A)  wfén swiTm Wi

(B) fem I Worwia

(C) TR Y Fed

(D) @—wm%m—gﬁﬁgmm : I
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